
F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ 

Ò$aóAeÑ 17, 2019 

`Í\c `dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ     `ËÀà jÕMÔÐ-96 

`ÍÒ[ÔL `Íhðe cËmÔ 8 _cée 

(1) LÞÒm QÐDf J ]ÞLÞÒmÐ XÐmÞe ]Ðc 74V ÒkÒm  LÞÒm XÐmÞ J ]ÞLÞÒmÐ QÐDfe ]Ðc 70V Ð [ÐÒkÒm XÐmÞ J QÐDfe ]Ðc ÒLÒ[ ? 

 

(2) ÒNÐÒV ]ÊB @* aÞhÞ½ jÕMÔÐe XÐkÐZ `ÒV (HLL Oe `ÐMÒe) 2 ÒmMÞÒm ÒdDÜ [Þ_Þ @* aÞhÞ½ jÕMÔÐ VÞ Òka [ÐkÐ Í̀\c jÕMÔÐ 

WÐeÊ 803 ÒahÞ Ð  [Ð ÒkÒm Í̀\c jÕMÔÐVÞ ÒLÒ[? 

 

(3) ÒNÐÒV LâÐjÒe ]ÊB-`qcÐÕh `Ê@ Þ̀mÐ HaÕ LâÐje `ÍÒ[ÔL `ÞmÐ ÒQj LÞcéÐ LÔÐec ÒMf«Þ Ð d]Þ HL-[ó[Ñ¯ÐÕh TÞ@ J HL-Q[Ê\àÐÕh 

`Ê@ ÒQj ÒMf«Þ, [ÐÒkÒm LâÐje ÒLÒ[ bÐN Þ̀mÐ ÒQj ÒMf«Þ ? 

 

(4) Í̀Þ̄ *Ðe ²ÊmÒe ]ÊB Í̀LÐee aMeÐ @RÞ Ð LÞRÞ aMeÐÒe ]ÊBVÞ TeLÐ HaÕ aÐLÞ aMeÐ NÊXÞLÒe [ÞÒ_ÐVÞ TeLÐ Ð Í̀Þ̄ *Ð aÊmÞ aÊmÞ 

Ò]MÞmÐ Òd 12VÞ aMeÐ HaÕ jcÊ]Ð¯ 29VÞ TeLÐ Ð Ò[Òa [ÐbÞ[Òe ÒLÒ[ÐVÞ [Þ_Þ TeLÐ aÞhÞ½ aMeÐ @RÞ ? 

 

(5) ]ÞaÔ J ckÐÒ]a ÒNÐÒV LÐcLÊ 5 ]Þ_Òe jÐeÞmÐ ÒaÒf ckÐÒ]a J jéÐN[ Òj LÐcLÊ 4 ]Þ_Òe, HaÕ jéÐN[ J ]ÞaÔ Òj LÐcLÊ 3 

]Þ_Òe jÐe«Þ Ð [Ð ÒkÒm `ÍÒ[ÔL HLÐLÞ Òj LÐcLÊ ÒLÒ[ ]Þ_Òe jÐeÞ `ÐeÞÒa? 

  

(6 ) [ÞÒ_ÐVÞ Þ̀mÐ*e kÐeÐkÐeÞ a¯j 15 aià Ð aX `ÞmÐe a¯j jÐ_ `ÞmÐ a¯je [Þ_ÞÞ NÊZ Ð cTÞAÜVÞ aXWÊÜ 4 aià jÐ_ Ð  LÐkÐe a¯j 

ÒLÒ[? 

(7) ÒNÐÒV LÍÞÒLV ÒMfÒe d]Þ jËdàÔ @«dàÔÐcÑ @Ò`lÐ 50% e_ @^ÞL, @\Q @ÕhÊcÐ_ @Ò`lÐ 30 % e_ Lc LeÞ\ÐH, Ò[Òa 

@«dàÔÐcÑ @ÕhÊcÐ_ [Êf_ÐÒe h[LXÐ ÒLÒ[ @^ÞL aÐ Lc e_ LeÞRÞ? 

 

(8) ]ÞaÔ, ÒQ[_, c^ÊjêÞ[Ð J ÒjßÐcÔ QÐeÞ jÐ= Ð ÒjßÐcÔ `ÐMÒe LÞRÞ V*Ð _\ÞaÐeÊ ]ÞaÔ [Ð V*Ðe HL-`qcÐÕh, ÒQ[_ [Ð V*Ðe HL-

Q[Ê\àÐÕh J c^ÊjêÞ[Ð [Ð V*Ðe HL-[ó[Ñ¯ÐÕh [ÐLÊ Ò]Òm Ð jcÒª d]Þ jc`eÞcÐZ V*Ð Ò]B\Ð«Þ, [ÐÒkÒm ÒjßÐcÔ `ÐMÒe \ÞaÐ V*Ð 

jcÊ]Ð¯ V*Ðe ÒLÒ[ @Õh? 

 

(9) d]Þ a J b ]ÊBVÞ ÒcßÐfÞL jÕMÔÐ kÊ@«Þ, HaÕ a e jÐ[ NÊZ jk b e `Ðq NÊZ cÞhÞ 129 kÊH, Ò[Òa b e cËmÔ ÒLÒ[? 

 

(10) eÐc ÒNÐÒV LÐcLÊ OÃÐLÒe jÐeÞÒm ÒNÐ`Ðf @^OÃÐÒe jÐÒe Ð  ]ÊBSZ cÞhÞ LÐc LÒm ÒLÒ[ jc¯ mÐNÞa? 

 

(11) ]ÞAdÐB\ÞaÐ cÞhÐZVÞÒe d]Þ A 7 ÒkÐB\ÐH HaÕ C HL dÊNê jÕMÔÐ ÒkÐB\ÐH [ÐÒkÒm B e cËmÔ ÒLÒ[? 

 

 

 

(12) ÒNÐÒV aNÞQÐÒe \ÞaÐ `ÐqVÞ `VÐfÞbÞ[eÊ ÒLDÜVÞe  

Òl[Í$f jaàÐ^ÞL ? 

S1 

A B C

A B C

D C E F





F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ 

Ò$aóAeÑ 17, 2019 

`Í\c `dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ     `ËÀà jÕMÔÐ-96 

`ÍÒ[ÔL `Íhðe cËmÔ 8 _cée 

(1) LÞÒm QÐDf J ]ÞLÞÒmÐ XÐmÞe ]Ðc 81V ÒkÒm  LÞÒm XÐmÞ J ]ÞLÞÒmÐ QÐDfe ]Ðc 78V Ð [ÐÒkÒm XÐmÞ J QÐDfe ]Ðc ÒLÒ[ ? 

 

(2) ÒNÐÒV ]ÊB @* aÞhÞ½ jÕMÔÐe XÐkÐZ `ÒV (HLL Oe `ÐMÒe) 3 ÒmMÞÒm ÒdDÜ [Þ_Þ @* aÞhÞ½ jÕMÔÐ VÞ Òka [ÐkÐ Í̀\c jÕMÔÐ 

WÐeÊ 867 ÒahÞ Ð  [Ð ÒkÒm Í̀\c jÕMÔÐVÞ ÒLÒ[? 

 

(3) ÒNÐÒV LâÐjÒe ]ÊB-`qcÐÕh `Ê@ Þ̀mÐ HaÕ LâÐje `ÍÒ[ÔL `ÞmÐ ÒQj LÞcéÐ LÔÐec ÒMf«Þ Ð d]Þ HL-[ó[Ñ¯ÐÕh TÞ@ J HL-Q[Ê\àÐÕh 

`Ê@ ÒQj ÒMf«Þ, [ÐÒkÒm LâÐje ÒLÒ[ bÐN Þ̀mÐ ÒQj ÒMf«Þ ? 

 

(4) Í̀Þ̄ *Ðe ²ÊmÒe ]ÊB Í̀LÐee aMeÐ @RÞ Ð LÞRÞ aMeÐÒe ]ÊBVÞ TeLÐ HaÕ aÐLÞ aMeÐ NÊXÞLÒe [ÞÒ_ÐVÞ TeLÐ Ð Í̀Þ̄ *Ð aÊmÞ aÊmÞ 

Ò]MÞmÐ Òd 15VÞ aMeÐ HaÕ jcÊ]Ð¯ 36VÞ TeLÐ Ð Ò[Òa [ÐbÞ[Òe ÒLÒ[ÐVÞ [Þ_Þ TeLÐ aÞhÞ½ aMeÐ @RÞ ? 

 

(5) ]ÞaÔ J ckÐÒ]a ÒNÐÒV LÐcLÊ 2 ]Þ_Òe jÐeÞmÐ ÒaÒf ckÐÒ]a J jéÐN[ Òj LÐcLÊ 3 ]Þ_Òe, HaÕ jéÐN[ J ]ÞaÔ Òj LÐcLÊ 4 

]Þ_Òe jÐe«Þ Ð [Ð ÒkÒm `ÍÒ[ÔL HLÐLÞ Òj LÐcLÊ ÒLÒ[ ]Þ_Òe jÐeÞ `ÐeÞÒa? 

  

(6 ) [ÞÒ_ÐVÞ Þ̀mÐ*e kÐeÐkÐeÞ a¯j 12 aià Ð aX `ÞmÐe a¯j jÐ_ `ÞmÐ a¯je [Þ_ÞÞ NÊZ Ð cTÞAÜVÞ aXWÊÜ 6 aià jÐ_ Ð  LÐkÐe a¯j 

ÒLÒ[? 

(7) ÒNÐÒV LÍÞÒLV ÒMfÒe d]Þ jËdàÔ @«dàÔÐcÑ @Ò`lÐ 20% e_ @^ÞL, @\Q @ÕhÊcÐ_ @Ò`lÐ 50 % e_ Lc LeÞ\ÐH, Ò[Òa 

@«dàÔÐcÑ @ÕhÊcÐ_ [Êf_ÐÒe h[LXÐ ÒLÒ[ @^ÞL aÐ Lc e_ LeÞRÞ? 

 

(8) ]ÞaÔ, ÒQ[_, c^ÊjêÞ[Ð J ÒjßÐcÔ QÐeÞ jÐ= Ð ÒjßÐcÔ `ÐMÒe LÞRÞ V*Ð _\ÞaÐeÊ ]ÞaÔ [Ð V*Ðe HL-`qcÐÕh, ÒQ[_ [Ð V*Ðe HL-

Q[Ê\àÐÕh J c^ÊjêÞ[Ð [Ð V*Ðe HL-[ó[Ñ¯ÐÕh [ÐLÊ Ò]Òm Ð jcÒª d]Þ jc`eÞcÐZ V*Ð Ò]B\Ð«Þ, [ÐÒkÒm ÒjßÐcÔ `ÐMÒe \ÞaÐ V*Ð 

jcÊ]Ð¯ V*Ðe ÒLÒ[ @Õh? 

 

(9) d]Þ a J b ]ÊBVÞ ÒcßÐfÞL jÕMÔÐ kÊ@«Þ, HaÕ a e jÐ[ NÊZ jk b e `Ðq NÊZ cÞhÞ 109 kÊH, Ò[Òa b e cËmÔ ÒLÒ[? 

 

(10) eÐc ÒNÐÒV LÐcLÊ OÃÐLÒe jÐeÞÒm ÒNÐ`Ðf @^OÃÐÒe jÐÒe Ð  ]ÊBSZ cÞhÞ LÐc LÒm ÒLÒ[ jc¯ mÐNÞa? 

 

(11) ]ÞAdÐB\ÞaÐ cÞhÐZVÞÒe d]Þ A 7 ÒkÐB\ÐH HaÕ C HL dÊNê jÕMÔÐ ÒkÐB\ÐH [ÐÒkÒm B e cËmÔ ÒLÒ[? 

 

 

 

(12) ÒNÐÒV aNÞQÐÒe \ÞaÐ `ÐqVÞ `VÐfÞbÞ[eÊ ÒLDÜVÞe  

Òl[Í$f jaàÐ^ÞL ? 

S2 

A B C

A B C

D C E F





1. If one kilogram of rice and two kilogram of daal cost 74 rupees, while two kilogram of daal and 

one kilogram of rice cost 70 rupees, then find the price of daal and rice separately. 

 

2. If you write 2 next to the unit place of a two-digit number you get a three-digit number which is 

larger than the original number by 803. Then what is the original number? 

 

3. Two-fifths of a class are boys and each student of the class plays either chess or carom. If one-

third of the girls and one-fourth of the boys play chess then what fraction of the class plays chess? 

 

4. There are two types of rooms in Priyanka’s school. Some of them have two windows while the 

remaining rooms have three windows. Priyanka found that there were 12 rooms and 29 windows 

in total. Find the number of rooms with three windows. 

 

5. Dibya and Mahadev take 5 days to finish some work.  Mahadev and Swagat take 4 days to finish 

the same work while Swagat and Dibya take 3 days. Find out how many days each of them would 

take to finish the same work. 

 

6. The average age of three boys is 15.  The oldest one is three times older than the youngest one, 

while the boy in the middle is 4 years younger than the oldest one. Find out the age of each one. 

 

7. If Surya scores 50% more runs than Antaryami and 30% less than Ansuman in a cricket match 

then how much more or less (in percentage) has Antaryami scored in comparison to Ansuman? 

 

8. Dibya, Chetan, Madhusmita and Soumya are friends. As Soumya had no money for buying books 

Dibya gave one-fifth of the money he had. Chetan gave one-fourth of his money while 

Madhusmita gave one-third of what she had. If each of them gave the same amount of money to 

Soumya, then find out the fraction of the total money that Soumya now has. 

 

9. Let a and b be two prime numbers. If seven times a is added to five times b, it gives 129. Find the 

value of b. 

 

10. Rama finishes some work in one hour while Gopal takes only half an hour for the same work. 

How long will they take to finish the same work together? 

 

11. In this addition problem, each letter stands for a different digit. If A = 7 and the letter C represents 

an even number, what is the only possible value for B? 

 

 

 

 

12. Which of the five plots of land has  

          the largest area? 
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